Cubies = 2 ¢ Faclors and S‘olvmj Ggua/}"ms

l) Tn each case prove as /i(icw;\ezj’
a) xg Flxt -2 -2 has o s as a /’ac/cn’
~ : ; L » . . ]
b) 3x ~Lx +2¢ +2 does nok  have x-2 as a /a'ﬁ/or
£ g i ;
c) N+ X TN T 2 d()(?)' N ot hav’e < gl | as c'l/c?c/af
3 - .
d) e, = bxz—- 2x + 24 has 2K =-3 as a ,L'acfo:’
; 2 . ;
e) 613 +Gx -3x -2 does rl(_)_b have c+2 as « /&C'L‘c.-"

-~ 1 [
F) X -3 does not  have x+2  as a fador

s

5 3 ' =
9) 9% + 19x — L - 4 has A+2Z as a f’(zcéof

2} Faclborise
a) L,'.xg-;'zix = |
b) («;xg-'lxz—iq.x + 8
C) % 4 dn—oc =2
d) %24 3 — 2 - 3

S 2
e) x’=3x -2¢ + 3

‘5) Scolve = Use (341) to M(p n

i
@

e) a’-3xT-x +3



